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1- Choose the correct answer. (12x1=12) _‘fg,};,,fﬁvmuﬂ -1
L For a reaction between PCls and Cl; to form PCls the -uJJ‘r!LKcui'uﬁgid/éLLL‘/.PCZE);Clz/}iPClg 1
units of K. are:
moldm (p) moldm 3 () moltdm™3 (B) mol~tdm? (p)
2. The reaction goes from left to right, if: S tnpmlhster e L8, 2
Q:=0 (p) Qe < K. (Q) Qc > Ke (g) Qe = Ke (p)
3. The sum of the pH and pOH at 25°C'is: _€_tn4:prOH/;pr425°C 3
16 (D) 14 (C) 12 (B) 7 (A)
4. Which one of the following is alkeyne? fe i = i 4
CH3;0H (p C:Ha () CaHy (g CaHs (p)
5. Which one of these is a saturated hydrocarbon? ?+cﬂjé/%g,1%/§vu/ S
CsHiz (D) CiHs () C2Hs (p) CaHy (p)
6. e use for ripening of fruits: el Lok -6
Propane g (D) Ethyne d:/l;f»' ©) Ethane C}j’:] (B) Ethene u:f";"; (A)
7. What is the nature enzyme? ?Lgy//fiJ/l'/:_l 7
Lipids /) (B) Carbohydrates 2246 (A)
Acids ;2 (D) Proteins 72y, (C)
8. Nucleic acid transfers from one generation to next :wL/J“";JJ/)JJ,QI_gK,j 8
generation.
Only colour _£,.5~ (B) Genetic information ‘f:“,u;;uéf, (A)
Defects only _s~ (D) Age s (C)
9. What is the range of temperature in troposphere? ?Lagfyo//?./;}uﬁ/’-f”g;} 9
~93°C" 2°C — 93C° () 17°C — 58C° () —58°C — 2C° (p)
10.  Which one of the following is green house gas? ?Lgu‘fus‘w:/u{ujfauid;‘em 10
€Oy (p) Cly (¢ 02 (B) O3 (p)
11 Which salts present in detergents cause rapid growth of ?wL)}:/&f&fuﬁ&gu%;uﬂzruﬁu':}ﬁ/:} 11
algae in water?
Phosphate ».2-; (B) Sodium (43, (A)
None of these i/t (D) Calcium Kff ©
12. 12

Petroleum is refined by:

Fractional distillation ﬁ,ﬂ/ (B)
Dry distillation .= 34,5 (D)

e bl A
Destructive distillation J/a“f“;‘,;/j (A)

Simple distillation .= £ (C)
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2- Answer the short questions. (5x2=10) _‘IJ@U‘@/&'?L.;,UVJ’;@” -2

i How direction of a reaction can be predicted. °+&CuJ4/df&JwJu’glJ/ .
il.  Define pH and pOH? g/ /S pOHs pH i
ifi.  What is function of HCl in stomach? t rHFHCI e A
iv.  What is difference between n-propyl and iso-propyl? ‘,u’"/’/._",}l.'a;;}»J{/“?L@J)gu:J/L:’)/?}jf/ﬂdll.‘}[’g)'/lf Av

Explain with structure.

V. Describe test for the identification of HsC. e bes L LogSme Y

3- Answer the short questions. (5x2=10) _d,;,y 2 /"f J:-:U';’J. St -3

i Define aliphatic hydrocarbons and give two examples. _J’}uglﬁ*uu!q’/..é/jd/j/%/i’tu@f&l i

ii. How alkenes are synthesize from alcohols? ?w&ydﬂgf‘ﬂdf;ﬁﬂ: A

iii.  What is meant by hydrogenation of vegetable oil? ?g_)i/’l{’/c;ﬁui’l[d/J/l’ﬁ) i

iv.  Write any two uses of amylase enzyme. <Q/uy;155J;J/£f!ﬁlﬁé%! v
v. Write composition of dry air. _«&{Jﬁu&ﬁnu& v

4- Answer the short questions. (5x2=10) ez Bl iS5t -4

i Write effects of ozone depletion. ,uf‘gc,l/“lai&lédr"”iu;)n i

ii.  Write reason of temporary hardness. _uf’agwfufwajfu@g i

iii.  Write any two effects of industrial effluents. ,ufﬁgu‘u,éé,féﬁ',};u/m i
iv.  Why urea is an important compound? ?+u[¢//ﬁtugg/g v
v. Which petroleum fraction is used in dry cleaning? Write ,J’%,V@’uKJ;?CL_JnJWIﬂ/'(f;;;J/Jﬂ&A v

down its boiling range.

Attempt given long questions. (2x9=18) _éym}fg PP s )

4(a)
(b)
5(a)
(b)

How do we predict extent of a reaction?
Write a note on nucleic acid.
Explain Industrial Effluents.

Explain the Fractional Distillation of Petroleum with the
help of Diagram.
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